
Social Science- Model Test Paper (Paper 2) 
 
Question 1: Assertion (A): There is no evidence of child marriage in early Vedic period. 
Reason (R): Women had been excluded from rituals in the later Vedic period. 
(A) (A) and (R) are correct but (R) explains (A) 
(B) (A) and (R) are correct but (R) doesn’t explains (A) 
(C) (A) is correct but (R) is incorrect 
(D) Both (A) and (R) are correct 
 
Question 2: The British officer who ended the menace of Thuggee was _________ 
(A) William Adam (B) William Sleeman 
(C) James Holland (D) John Nicholson 
 
Question 3: Who declared that “Land belongs to God” and collecting rent or tax on it was 
against divine law? 
(A) Titu Mir (B) Sidhu 
(C) Dudumian (D) Shariatullah 
 
Question 4: Find out the correct statement: 
(A) Warren Hastings Wanted to deal with Tipu Sultan in a revengeful Manner 
(B) The elimination of Tipu and restoration of the old Wodeyar dynasty to the Mysore Kingdom 
marked 
the real beginning of company’s rule in the South 
(C) The Nawab of Arcot gave support to Velu Nachiyar 
(D) The temple of Kalayarkoil is in the heart of Tirunelveli forests 
 
Question 5: Consider the following statements: 
(A) D.K. Karve established a number of female schools in Poona. 
(B) The Italian traveller, Niccolo Conti, who visited Maratha empire in 1420 A.D. 
Which of the statement(s) given above is/are correct? 
(A) (A) only (B) (B) only 
(C) (A) and (B) (D) Neither (A) nor (B) 
 
Question 6: The composition of Metals in the coins give us information on the _________ 
condition. 
(A) Economic (B) Religious 
(C) Political (D) Art 
 
Question 7: Tansen of Gwalior was patronized by _________ 
(A) Akbar (B) Shah Jahan 
(C) Sher Shah (D) Babur 



 
Question 8: Who was the eleventh president (2002 - 2007) of India? 
(A) V.V. Giri (B) Dr.A.P.J.Abdul Kalam 
(C) R.K. Narayanan (D) Jakir Hussai 
 
Question 9: The Goods and Services Tax act came into effect on _________ 
(A) 29 March 2017 (B) 1 July 2017 
(C) 6 June 2017 (D) 28 March 2017 
 
Question 10: One of the merits of division of labour is : 
(A) Time and raw materials are used very efficiently 
(B) Repetition of work 
(C) Narrow specialization 
(D) Unemployment 
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